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FRACTIONS

Example Addition And Subtraction Of Fractions

1. Convert each of the following into an

improper fraction:


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_E76yyF9n9AKY

(|||)71—3
12 6
25

° Watch Video Solution

2. Convert each of the following into a mixed

fraction:
n 38
"

.. 47

(||)1—5
... 189
(|||)1—6

| e |


https://dl.doubtnut.com/l/_E76yyF9n9AKY
https://dl.doubtnut.com/l/_kFQ7DPvGGDu3

& Wwatch Video Solution ]

: 5 7 11 | :
3. Convert the fractions 59 12 into like

fractions

o Watch Video Solution

4, Convert g—: into irreducible form

o Watch Video Solution



https://dl.doubtnut.com/l/_kFQ7DPvGGDu3
https://dl.doubtnut.com/l/_NJhPbSf641c5
https://dl.doubtnut.com/l/_4AONYFBQv3g1

5. Compare the fractions

(')3 >
V58
0 13

o Watch Video Solution

6. Arrange the fracti 2 3 ) 16
o r —
g e fractions =10 14’ 35 in

ascending order

o Watch Video Solution



https://dl.doubtnut.com/l/_20lKiTDWO5Zu
https://dl.doubtnut.com/l/_2Tk5AoYi9lam

3
7. Add: 10 + 15

o >
Ol oot Wl e

N

o

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_P23otGkHbQoQ

8. Find the sum: — + =1
. FIN e sum: 14 35

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_KDOwlI1Qcn2P

9. Find the difference:

7 5
U9~ 9
L1307
(||)1—6 BT
9

20

(i) 11
I 15 —

° Watch Video Solution

: s} 7 1
10. Simplyfy 9 12 + 3
11
A —
36
15

B. —
36


https://dl.doubtnut.com/l/_HAeWHSZdY8x3
https://dl.doubtnut.com/l/_StTmGwWKLmH1

17
36

D. none

Answer: C

° Watch Video Solution

1. Simplify3— + 2 — 1~ _ 2
-Simplifyd &+ 295 =15 = 7

° Watch Video Solution



https://dl.doubtnut.com/l/_StTmGwWKLmH1
https://dl.doubtnut.com/l/_QU066Wi30mJq

3 1
12. Sarita bought 5Zkg potatoes and 35 kg
tomatoes from a vendor. What is the total

weight of vegetables bought by her?

A41k
-47ke

BQlk
-97ke

C51k
-oke

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Tk8QcUkoefzf

4
13. Rohit ate - part of an apple and his sister
Ritu ate the remaining part of it? Who ate

more and by how much?

o Watch Video Solution

2 5
14. What should be added to 15§to get 176?
A4 !
6
B.1 !
76

C.3—=


https://dl.doubtnut.com/l/_rbgFITURTLKq
https://dl.doubtnut.com/l/_IXWAkivetEda

D.2—

Answer: D

o Watch Video Solution

3
15. What should be subtracted from 17Z to

t112?
get 1l

° Watch Video Solution

Example Multiplication Of Fractions


https://dl.doubtnut.com/l/_IXWAkivetEda
https://dl.doubtnut.com/l/_CFVqclsp6s4d
https://dl.doubtnut.com/l/_nLUx3oh6R9mA

1. Find the product:

(iV)l—2 X 9

o Watch Video Solution

2. Multiply:

L S


https://dl.doubtnut.com/l/_nLUx3oh6R9mA
https://dl.doubtnut.com/l/_JVQW4Rp11liu

.
(i)9—=by12

8
(”m11b31
ii)6——by35

° Watch Video Solution

14 35
3. Simplify: 5% X =i X 2—3

° Watch Video Solution

4.Sim I'i’y34><22 ><13
. Simplify: 3— — —
P S %5

A. 25


https://dl.doubtnut.com/l/_JVQW4Rp11liu
https://dl.doubtnut.com/l/_jV4PG2X8stWI
https://dl.doubtnut.com/l/_mvSGjS6QrJR6

C.15

D.5

Answer: C

o Watch Video Solution

5. Find:
(')2 f40
| 5O

5
(ii)§0f48
(i) 11 (63
i 140


https://dl.doubtnut.com/l/_mvSGjS6QrJR6
https://dl.doubtnut.com/l/_ZWN5JcCPegbr

° Watch Video Solution

6. Find:

1
(i)g of a rupee

2
(ii)§o1c the year

5
(iii)g of the day

(iv)%of the kilogram

11

(v)2—5 of a liter

(vi) % of an hour

° Watch Video Solution



https://dl.doubtnut.com/l/_ZWN5JcCPegbr
https://dl.doubtnut.com/l/_BehARbnnK1y8
https://dl.doubtnut.com/l/_GwRE28V41lQT

3
7. Milk is sold at Rs 16Z per litre. Find the cost

2
of 63 litres of milk

o Watch Video Solution

8. Sajal can walk 23 km in an hour. How much

distance will he cover in3§ hours?

° Watch Video Solution

9. A carton contains 16 boxes of nails and each

box weighs 4Z kg. How much would a carton


https://dl.doubtnut.com/l/_GwRE28V41lQT
https://dl.doubtnut.com/l/_uDzjYRsBUVlA
https://dl.doubtnut.com/l/_Hdu1CCTOg6NJ

of nails weigh?

o Watch Video Solution

10. A book consists of 216 pages. During last

week Vikas read ZOf the book. How many

pages did he read?

o Watch Video Solution

11. A tin contains 16 kg ghee. After consuming

1 of it, how much ghee is left in the tin?


https://dl.doubtnut.com/l/_Hdu1CCTOg6NJ
https://dl.doubtnut.com/l/_YgQfkRBipdQB
https://dl.doubtnut.com/l/_y398Jp7faD7U

A. 4 kg

B.7 kg

C.8 kg

D.9 kg

Answer: A

o Watch Video Solution

4
12. Renu spends 5 of her income on

household expenses. Her monthly income is Rs

30000. How much does she save every month?


https://dl.doubtnut.com/l/_y398Jp7faD7U
https://dl.doubtnut.com/l/_xi01cwWsxcuY

A.Rs 4000

B. Rs 5000

C. Rs 6000

D.Rs 7000

Answer: C

° Watch Video Solution

Example Division Of Fractions


https://dl.doubtnut.com/l/_xi01cwWsxcuY

1. Write down the reciprocal of

)3
(I)7

o Watch Video Solution

2. Simplify:

4 5
Wg~%


https://dl.doubtnut.com/l/_T3KvFPjGNRvJ
https://dl.doubtnut.com/l/_HUTHCPxRN1Z8

i 5 10
||)7T

...53 . o 1
(iii) EREET]

° Watch Video Solution

3. Divide:

) 2
(l)gb}’§
13

4
(||)57byﬁ
2 2

(|||)47by23

o Watch Video Solution



https://dl.doubtnut.com/l/_HUTHCPxRN1Z8
https://dl.doubtnut.com/l/_dIIYQrdoGzq7

4, Divide:

, 7
(|)28byZ

2
(i)36 by 63

o Watch Video Solution

5. A rope of length QZm is cut into 6 pieces of

equal length. Find the length of each piece

o Watch Video Solution



https://dl.doubtnut.com/l/_D43Racb4iFUc
https://dl.doubtnut.com/l/_A9cOy0WbntIz

2 1
6. If the cost of 53 litres of milk is Rs 2362,

find its cost per litre

° Watch Video Solution

1
7. The cost of 5Z kg of mangoes is Rs 231. At

what rate per kg are the mangoes being sold?

o Watch Video Solution



https://dl.doubtnut.com/l/_mfdoDYt5VOUA
https://dl.doubtnut.com/l/_bXZ3RqgjGHOQ

5
8. The product of two numbers is 158 If one

2
of the numbers is 65, find the other.

o Watch Video Solution

2
9. By what number should 65 be multiplied to

get 407

A73
T


https://dl.doubtnut.com/l/_FZo4uTEgwnAk
https://dl.doubtnut.com/l/_cvKTrVZPPxI5

Answer: C

o Watch Video Solution

1. Compare the fractions:

5
annd 7/12,

5
(ii) §and 11/15
11 15

(|||)1—2a,nd1—6

f _


https://dl.doubtnut.com/l/_cvKTrVZPPxI5
https://dl.doubtnut.com/l/_UTEgUxlQnycq

o Watch Video Solution

2. Arrange the following fractions in ascending

order:

3 5 7 11
(I)_a_a_a_
4°6° 9" 1
(ii)4 7 11 17
510" 157 20

o Watch Video Solution

3. Arrange the following fractions in

descending order


https://dl.doubtnut.com/l/_UTEgUxlQnycq
https://dl.doubtnut.com/l/_IdcQ9lgiHVFX
https://dl.doubtnut.com/l/_1qEo1QhxNP9C

(i)3 7 7 17
4°8’12° 24
2 3 7 8
(”)_7 =Y 1A ar-
3 5 10 15

° Watch Video Solution

4. Reenu got - part of an apple while Sonal
4
got 5 part of it. Who got the larger part and

how much?

18
A. Sonal,—
35

18
B. Reenu,—
35

19
C.Sonal,—
35


https://dl.doubtnut.com/l/_1qEo1QhxNP9C
https://dl.doubtnut.com/l/_Rsg6N4vny9yK

D. Sonal 1—7
' " 35

Answer: A

o Watch Video Solution

5. Find the sum:

(')5 - 5

"9 T 9

L8 7

(u)§ - 15

N I

('“)g + 3

(iv) ! + 1 + )
12 16 24



https://dl.doubtnut.com/l/_Rsg6N4vny9yK
https://dl.doubtnut.com/l/_p7IYGxI3T7TO

4 3 1
V3— +2— +1—

5 10 15
( ')83 + 102
V)8 T

° Watch Video Solution

6. Find the difference:

032
I —_ —
77
(i) 5 3
Ve T 21

1 7
e
(3= =75
(iv)7 42
v — 44—

3

W3 1~

10 15
( ')25 1 ’
Weg T 15

| =


https://dl.doubtnut.com/l/_p7IYGxI3T7TO
https://dl.doubtnut.com/l/_1hxSInw2Qjn6

I &9 Watch Video Solution I

7. Simplify

DR
"3$ T % 9

. 1 1

(II)8 — 45 — 22

(iii)8E — 3i + 11
6 8 12

o Watch Video Solution

3 1
8. Aneeta bought SZ kg apples and 45 kg

guava. What is the total weight of fruits

purchased by her?


https://dl.doubtnut.com/l/_1hxSInw2Qjn6
https://dl.doubtnut.com/l/_Wglrexoaj0yJ
https://dl.doubtnut.com/l/_cnl7YJxv2fDh

1
4
1
4

A T—kg

B.8—kg

C91k
97 kg

1

D.
64

kg

Answer: B

o Watch Video Solution

3
9. Arectangular sheet of paper is 15Z

1
and 125 cm wide. Find its perimeter.

cm long


https://dl.doubtnut.com/l/_cnl7YJxv2fDh
https://dl.doubtnut.com/l/_9EH5Qd9M5aqh

A. 36—cm

B. 66—cm

C.56—cm

D.46—cm

Answer: C

o Watch Video Solution

10. A picture is7g cm wide. How much should

it be trimmed to fit in a frame 7 3/10 cm wide?

| 8 l


https://dl.doubtnut.com/l/_9EH5Qd9M5aqh
https://dl.doubtnut.com/l/_cGVy54I987wH

3
11. What should be added to 73 to get 187

A133
5

BlO2
5

c112
5

D132
5

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_cGVy54I987wH
https://dl.doubtnut.com/l/_VGGIdzOQYgqN
https://dl.doubtnut.com/l/_dVcJuX12Mnu3

4 2
12. What should be added to 71—5— to get 83

—7?

o Watch Video Solution

13. A piece of wire BZ m long broke into two
pieces. One piece is 15 m long. How long is

the 4 2 other piece?

o Watch Video Solution



https://dl.doubtnut.com/l/_dVcJuX12Mnu3
https://dl.doubtnut.com/l/_d6wddDXmmXVE

2
14. A film show lasted for 3§ hours. Out of
1
this time 15 hours was spent on

advertisements. 3 2 What was the actual

duration of the film?

° Watch Video Solution

2 5
15. Of gand 9 which is greater and by how

much?

o Watch Video Solution



https://dl.doubtnut.com/l/_4p6jULJQfFaH
https://dl.doubtnut.com/l/_5ztey2CDS0zR
https://dl.doubtnut.com/l/_C7t7luGPWzYj

3
16. The cost of a pen is Rs 163 and that of a

pencil is Rs 4Z Which costs more and by how

much

o Watch Video Solution

1. Find the product:

3 7
UCRSTE
(ii)g X ;
. 4 4
(|||)§ X 16


https://dl.doubtnut.com/l/_C7t7luGPWzYj
https://dl.doubtnut.com/l/_Ij8lmAK3MPDV

(°)8 20
V) %

5
(v) 3 x 1000

1
13— X 16
(vi) 3 X

. 4
(V||)21—5 X 12
( ...)36 42

— X 4—
Vil - 3

° Watch Video Solution

2. Simplify

02 B3
s 11 " 35

(i) 12 15 35
)5 X 28 X 36

28 y 39
65 56

(i) 10
i o7


https://dl.doubtnut.com/l/_Ij8lmAK3MPDV
https://dl.doubtnut.com/l/_ecBVQXKWDNjG

22 15
()22><72><133
Ve 9 T he

° Watch Video Solution

3. Find:
( )1 24
a gof

3
(b) 032

(c )gof45

7
d)— 01000
()5 of

3
—0712020
(e) 50 of

5
(f) 1T 0f220


https://dl.doubtnut.com/l/_ecBVQXKWDNjG
https://dl.doubtnut.com/l/_9AIQW2lpsRwX

4
(g)§Of54meter

6 .
(h)70f35llter

1
(i) 5 of an hour

.5
(J)EO fanyear

7
k)— of k
()200 g

() — of a meter
20

(m)% of a day

(n)%ofa week

(o)% of a liter

o Watch Video Solution



https://dl.doubtnut.com/l/_9AIQW2lpsRwX

4
4. Apples are sold at Rs48€ per kg. What is

3
the cost of 3Z kg of apples?

° Watch Video Solution

1
5. Cloth is being sold at Rs 425 per metre.

3
What is the cost of 53 metres of this cloth?

o Watch Video Solution



https://dl.doubtnut.com/l/_ByDgdVtVFXb8
https://dl.doubtnut.com/l/_q9OXqFPETkJD

6. A car covers a certain distance at a uniform

speed of 665 km per hour. How much

distance will it cover in 9 hours?

o Watch Video Solution

7. One tin holds 12Z litres of oil. How many

litres of oil can 26 such tins hold?

° Watch Video Solution



https://dl.doubtnut.com/l/_9e7pAohyjKke
https://dl.doubtnut.com/l/_TQ20b7CPvIuy

8. For a particular show in a circus, each ticket
1
costs Rs 355 . If 308 tickets are sold for the 2
show, how much amount has been collected?
A.Rs19, 784
B. Rs9, 934

C.Rs10, 934

D.Rs10, 000

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_khJLQfG75Gf6

9. Nine boards are stacked on the top of each

2

other. The thickness of each board is3§

cm.How high is the stack?

o Watch Video Solution

4
10. Rohit takes 43 minutes to make a

complete round of a circular park. How much

time will 5 he take to make 15 rounds

o Watch Video Solution



https://dl.doubtnut.com/l/_fAGwoZphDHAN
https://dl.doubtnut.com/l/_DLnDPIm4CxXu
https://dl.doubtnut.com/l/_YwpofXba8E3t

11. Amit weight 35 kg. his sister kavita's weight

3
isgof amit's weight.How muchdoes kavita's

weight?

o Watch Video Solution

5
12. There are 42 students in a class and 7 of

the students are boys. How many girls are
there in the class?

A. 10

B. 12


https://dl.doubtnut.com/l/_YwpofXba8E3t
https://dl.doubtnut.com/l/_mlzJz0s86ZHu

D.15

Answer: B

o Watch Video Solution

13. Sapna earns Rs 24,000 per month. She
7

spends — of her income and deposits rest of

8

the 8 money in a bank. How much money does

she deposit in the bank each month?


https://dl.doubtnut.com/l/_mlzJz0s86ZHu
https://dl.doubtnut.com/l/_bft1Z1UUrFJT

A. Rs 4000

B. Rs 9000

C. Rs 8000

D. Rs 3000

Answer: D

° Watch Video Solution

2
14. Each side of a square field is 4§ m. Find its

area

| 8 l


https://dl.doubtnut.com/l/_bft1Z1UUrFJT
https://dl.doubtnut.com/l/_8Tuw64DPbU39

15. Find the area of the rectangular park which

is41§m long andngm broad?

° Watch Video Solution

1. Write down the reciprocal of:

(')E
4

(i1)7


https://dl.doubtnut.com/l/_8Tuw64DPbU39
https://dl.doubtnut.com/l/_8p7PZ6MxLQYF
https://dl.doubtnut.com/l/_GBNWz6I11P3N

Lo 1
(|||)E
(iv) 12%

° Watch Video Solution

2. Simplify
4 9
7 14

7 3

(”)1_0 = g

(...)8 . 16
) — =

9

(iv)9 !
V)Y — —
3

6

24 +~ —
(V) -

3 4
)3— — —
(vi) = =


https://dl.doubtnut.com/l/_GBNWz6I11P3N
https://dl.doubtnut.com/l/_75OPt3ZAH73D

i D 8
(vi)3— +— —

7 21
o4 3
(VIII)57 = 11—0
, 3 23
(ix)1b— = 1—

7 49

o Watch Video Solution

3. Divide:

) 3
(|||)§ by 3T

(iv)32 by 1%


https://dl.doubtnut.com/l/_75OPt3ZAH73D
https://dl.doubtnut.com/l/_TPx5nD1qZgUi

(v)45by1§

1
(vi)63by2 1

° Watch Video Solution

1
4. A rope of length 135 m has been divided

into 9 pieces of the same length. What is the

length of each piece?

° Watch Video Solution



https://dl.doubtnut.com/l/_TPx5nD1qZgUi
https://dl.doubtnut.com/l/_X0mgzw2MNdMb

5. 18 boxes of nails weigh equally and their
1
total weight is 495 kg. How much does each

box weigh?

o Watch Video Solution

3
6. By selling oranges at the rate of Rs 6Z —

per orange, a man gets Rs 378. How many

oranges does he sell?

o Watch Video Solution



https://dl.doubtnut.com/l/_qHKuF6gn6UgL
https://dl.doubtnut.com/l/_c7gFj8lbppio
https://dl.doubtnut.com/l/_7AwGWR2BHEMU

1
7. Mangoes are sold at Rs 43— i per kg. What

2
is the weight of mangoes available for Rs
3261 ?
1

o Watch Video Solution

8. Vikas can cover a distance of 20§ — km in
3
7Z hours on foot. How many km per hour

does he walk?

o Watch Video Solution



https://dl.doubtnut.com/l/_7AwGWR2BHEMU
https://dl.doubtnut.com/l/_j5hl5TfqBV3E
https://dl.doubtnut.com/l/_uUlGTXgI942z

1
9. Preeti bought 85 — kg of sugar for Rs

1
2422. Find the price of sugar per kg.

° Watch Video Solution

3
10. If the cost of a notebook is Rs 27Z , how

many notebooks can be purchased for Rs

24937
1

° Watch Video Solution



https://dl.doubtnut.com/l/_uUlGTXgI942z
https://dl.doubtnut.com/l/_ZYHWUhQrj53T

11. At a charity show the price of each ticket
was Rs 32% The total amount collected by a
boy 2 was Rs 8775. How many tickets were
sold by him?

o Watch Video Solution

12. A group of students arranged a picnic. Each

1
student contributed Rs261§ The total 2

contribution was Rs 28765. How many

students are there in the group?

| & I


https://dl.doubtnut.com/l/_P3AXU2d3PEf1
https://dl.doubtnut.com/l/_dIRMhb1ci3Rx

| ¥ Watch Video Solution |

13. 24 litres of milk was distributed equally
among all the students of a hostel. If each
student — got — litre of milk, how many

5

students are there in the hostel?

o Watch Video Solution

1
14. A bucket contains ZOZ litres of water. A

small jug has a capacity of 1 litre. How many


https://dl.doubtnut.com/l/_dIRMhb1ci3Rx
https://dl.doubtnut.com/l/_QGbsxpzFu4XQ
https://dl.doubtnut.com/l/_hwphcZ8eOxNQ

times the jug has to be filled with water from

the bucket to get it emptied?

° Watch Video Solution

15. The product of two numbers is 156 If one

1
of the numbers is6§ , find the other.

o Watch Video Solution

4
16. By what number should 93 be multiplied

to get 427


https://dl.doubtnut.com/l/_hwphcZ8eOxNQ
https://dl.doubtnut.com/l/_9avsFvEq7Iac
https://dl.doubtnut.com/l/_CCpd2odIPJLI

° Watch Video Solution

2
17. By what number should 65 be divided to

btai 42?
obtain 4

o Watch Video Solution

1. Which of the following is a vulgar fraction?

3 13 10
10 10 3

none of these


https://dl.doubtnut.com/l/_CCpd2odIPJLI
https://dl.doubtnut.com/l/_ZOpC11tN88jQ
https://dl.doubtnut.com/l/_1dQmNRBSSz9N

D. none of these

Answer: C

° Watch Video Solution

2. Which of the following is an improper

T 7T 97

fraction? 1—0, 5 ,7,?


https://dl.doubtnut.com/l/_1dQmNRBSSz9N
https://dl.doubtnut.com/l/_oc5U7BoPL565

N o >

O
N9 o ol =
| | I~ 2|

Answer: C

° Watch Video Solution

3. Which of the following is a reducible

fraction? 105 104 77 46
" 112 121 72 63



https://dl.doubtnut.com/l/_oc5U7BoPL565
https://dl.doubtnut.com/l/_A2TWYEODDKqQ

Answer: A

o Watch Video Solution

8

4 2 4 6
"3°6°9 12

are

A. like fractions


https://dl.doubtnut.com/l/_A2TWYEODDKqQ
https://dl.doubtnut.com/l/_OA0zmCCVBnI0

B. irreducible fractions

C. equivalent fraction

D. none of these

Answer: C

o Watch Video Solution

5. Which of the following statements is true?

A 9 13
16 24

9 13
B. —<—


https://dl.doubtnut.com/l/_OA0zmCCVBnI0
https://dl.doubtnut.com/l/_P9VzlAQEUrrn

D. none of these

Answer: C

° Watch Video Solution

3

6. Reciprocal of 1Z
4
Al—
3
B.4 !
3


https://dl.doubtnut.com/l/_P9VzlAQEUrrn
https://dl.doubtnut.com/l/_5bKFvr05X1Qk

Answer: D

o Watch Video Solution

. 3+8
“10 15

D. none of these


https://dl.doubtnut.com/l/_5bKFvr05X1Qk
https://dl.doubtnut.com/l/_INvBqKuVYCOQ

Answer: C

o Watch Video Solution

Answer: A::B


https://dl.doubtnut.com/l/_INvBqKuVYCOQ
https://dl.doubtnut.com/l/_zEpqbzbSvAU6

° Watch Video Solution

9.36 + —

. 144

D. 144

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_zEpqbzbSvAU6
https://dl.doubtnut.com/l/_nXWYCP6FjDud

3
10. By what number should 23 be multiplied

t t16
0O ge —
8¢t 17

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_nXWYCP6FjDud
https://dl.doubtnut.com/l/_HuIlwdFDSz8v
https://dl.doubtnut.com/l/_9HWyX4j2UHFX

1
1. By what number should 15 be divided to

t2?
get o¢

D. none of these

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_9HWyX4j2UHFX
https://dl.doubtnut.com/l/_oHzAQu6D2ZFf

Answer: A

o Watch Video Solution

21 \
13. — /11/5=2


https://dl.doubtnut.com/l/_oHzAQu6D2ZFf
https://dl.doubtnut.com/l/_y5KdRmyikoee

Al

B.2

C.1—

D.1—

Answer: A

° Watch Video Solution

14. The reciprocal of 1§ is

A31
2


https://dl.doubtnut.com/l/_y5KdRmyikoee
https://dl.doubtnut.com/l/_l3bd6QUZGfb9

Answer: C

o Watch Video Solution

15. Which one of the following is the correct

statement?

A.2/31t3/51t14/15


https://dl.doubtnut.com/l/_l3bd6QUZGfb9
https://dl.doubtnut.com/l/_tj1MZ7GWRGy4

3 2 14
Sy <3 <1
4 _3_2

15 5! 3

D. none of these

Answer: B

o Watch Video Solution

16. A car runs 16 km using 1 litre of petrol. How

much distance will it cover in ZZ litres of

petrol?


https://dl.doubtnut.com/l/_tj1MZ7GWRGy4
https://dl.doubtnut.com/l/_NOq1CWx5w59r

A. 24 km

B. 36 km

C.44 km

D. 32—

Answer: C

o Watch Video Solution

17. Lalit reads a book for 1Z hours every day

and reads the entire book in 6 days. How many

hours does he take to read the entire book?


https://dl.doubtnut.com/l/_NOq1CWx5w59r
https://dl.doubtnut.com/l/_aif2P94CMBfc

1
A. 10§hours

1
B. 9§hours

1
C. 7§hours

1
D. 11§hours

Answer: A

° Watch Video Solution

Test Paper 2


https://dl.doubtnut.com/l/_aif2P94CMBfc

1. Define:
Q (i) Fractions
(i) Vulgar fractions

(iii)lmproper fractions

° Watch Video Solution

3
2. What should be added to 63 to get 157


https://dl.doubtnut.com/l/_dYk0kCgQA2fJ
https://dl.doubtnut.com/l/_8vMSq0Cd6z5a

C81
5

D. none of these

Answer: A

° Watch Video Solution

D 3 7
3.S|mpI|fy9€ — 4§ + 2E

° Watch Video Solution



https://dl.doubtnut.com/l/_8vMSq0Cd6z5a
https://dl.doubtnut.com/l/_oanK8ejBzlRr

4. Find

12

(i) %5 of a liter

5
(ii)g of a kilogram

(iii)gofan hour

A. 490 ml, 620 g, 59 min
B. 480 ml, 625 g, 36 min
C.400 ml, 605 g, 72 min

D. 450 ml, 525 g, 46 min

Answer: B

I o Wiak hh \tAAA CAaliikianm


https://dl.doubtnut.com/l/_vKNzrNSTkNjz

VVCILLIL VI INAGINIE L J

3
5. Milk is sold at Rs 37Z per litre. Find the cost

of 63 litres of milk.

o Watch Video Solution

1
6. The cost of SZ kg of mangoes is Rs 189. At

what rate per kg are the mangoes being sold?

o Watch Video Solution



https://dl.doubtnut.com/l/_vKNzrNSTkNjz
https://dl.doubtnut.com/l/_Z9ybVgzL6fBr
https://dl.doubtnut.com/l/_uIVOIYqUobo4

7.Simplyfy :

13><22><34
47 %4 "7
A. 15

B. 20

7

C. —

5)

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ZzWhpejPTRH9
https://dl.doubtnut.com/l/_W4VnUx7m7Q5B

D. both (b) and (c)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_W4VnUx7m7Q5B

2
9. By what number should 65 be divided to

bt'42?
obtain 4 ¢

o Watch Video Solution

10. Each side of a square is 55 m long. Find its

area.

o Watch Video Solution



https://dl.doubtnut.com/l/_XDfKcQOmjnoT
https://dl.doubtnut.com/l/_qzLXrcsshzBH

11. Which of the following is a vulgar fraction?

7 1933 5
10 100 “10 8

A7
10

o 19
' 100

Answer: —
8

o Watch Video Solution



https://dl.doubtnut.com/l/_pNI7Jq2U9J9Q
https://dl.doubtnut.com/l/_fxWnXl0nS4OY

12. Which of the following is an irreducible

66 46 51
77 63 85

fraction?

A 105
S 112

66
7
46
63
51

D. —
85

Answer: ﬁ
" 63

° Watch Video Solution



https://dl.doubtnut.com/l/_fxWnXl0nS4OY
https://dl.doubtnut.com/l/_oWi3FEgQc7ux

3
13. Reciprocal of 13

N
'8

B51
73

C31
75

D25
]

Answer: A

o Watch Video Solution

14. Which of the following is correct?


https://dl.doubtnut.com/l/_oWi3FEgQc7ux
https://dl.doubtnut.com/l/_0lc37jnFqq4S

Answer: B

o Watch Video Solution

15. By what number should 1

t21?
get 25

3
1 be divided to


https://dl.doubtnut.com/l/_0lc37jnFqq4S
https://dl.doubtnut.com/l/_CEUfemZA2WsR

Answer: C

o Watch Video Solution

16. A car runs 9 km using 1 litre of petrol. How

much distance will it cover in 3 litre petrol?

| 8 l


https://dl.doubtnut.com/l/_CEUfemZA2WsR
https://dl.doubtnut.com/l/_5jJJrus0Fpd2

17. Fill in the blanks

2
QReciprocal of 83 T

° Watch Video Solution

18. Fill in the blanks

131 8=
2 . T eccccccee
A711
16


https://dl.doubtnut.com/l/_5jJJrus0Fpd2
https://dl.doubtnut.com/l/_FOXZttw4IuzH
https://dl.doubtnut.com/l/_unMmT3kpND5l

C111
16

D. none of these

Answer: C

° Watch Video Solution

19. Fill in the blanks

o Watch Video Solution



https://dl.doubtnut.com/l/_unMmT3kpND5l
https://dl.doubtnut.com/l/_R68BUpj99lA9

20. Fill in the blanks

412 ><183
Q 3 5

o Watch Video Solution

21. Fill in the blanks

Qg_;l(in irreducible form)=.......

o Watch Video Solution



https://dl.doubtnut.com/l/_hQfy3cguZjJ8
https://dl.doubtnut.com/l/_lLqiaT6w5iZw

22. Write ‘T'for true and ‘Ffor false for each of

the following:

o Watch Video Solution

23. Write ‘T'for true and ‘Ffor false for each of

the following:

2 16 d9 the | fi 16
Q5, 35a11 11 e larges |s35

o Watch Video Solution



https://dl.doubtnut.com/l/_MOLd6WsOoHe3
https://dl.doubtnut.com/l/_suR25HJCESTp
https://dl.doubtnut.com/l/_T7fxXHsEH0LK

24. Write ‘T'for true and ‘Ffor false for each of

the following:

o Watch Video Solution

25. Write ‘T'for true and ‘Ffor false for each of

the following:

11 .
2—50f a litre = 440mL

o Watch Video Solution



https://dl.doubtnut.com/l/_T7fxXHsEH0LK
https://dl.doubtnut.com/l/_UEI6sNbJTuSP
https://dl.doubtnut.com/l/_lZTpLwgvTkab

26. Write ‘T'for true and ‘Ffor false for each of

the following:

: 3 2 3
Q11/25 of a I|ter—4OOmI16Z X Gg — 1071_0

o Watch Video Solution



https://dl.doubtnut.com/l/_lZTpLwgvTkab

